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He is believed to feed him Terumah - TTAIN2 YONRTY TN

OVERVIEW

The X713 cites a Xn*>72 in which °27 was 79v» a person 1737 (for 77170 only, but
not for 1PomM”) based on the testimony of his father. *27 explained that the father is
believed 1m0 12°9K:77, since it is 77170 19°2872 17°2 (but not 17°2 to marry him to a
nomn). Our M1OIN clarifies this case.

= 2PNy 11299510 PYYNM PR 229 93097 2197 NINY NID KIN X957 2) Yy 9N 'wvia
The explanation of 7170 190872 1281 is that the father is believed even though
that the father, who is a relative, is the only one testifying regarding the son. He
is believed because 29 maintains that we do not elevate from 72190 to °on,
therefore even though he is eating 12X 5"y 7m0 without valid M7y there is no concern that we

will be 7%¥1 him to Pon (which requires valid m7y).
= 9P NIV D ‘aux NOWNY NN oY 9908nY *Wr1ra HUN INOYNY 1IN PN

And the explanation of 7wX X% K1 PN is that the father is not believed
(even) to be combined with another 7¥, who testifies that the son is a proper 3712,
to marry him to a nonn AWK, since the father is a 219p.
- NP %29 ININT NN S99Y SN NOIWN)
And now it is properly understood this which 1''1 said to "2 -
= 299 NINY 29 HY G NN 1DIINNT 279N 139NN NNN ON
If you believe the father alone 21 n 987> even though he is a relative;

indicating that he is a proper witness (even though he is related) -
= YR INOYNY INN DY 1NPNNN

You should also believe him together with another witness 7w IR (for there
will be two credible witnesses).

In summation: 71702 12°2K:77 1281 is by the father alone; WX W W2 1MKR1 X is even together with
another witness. Mo will now clarify why it is necessary® to explain *27 in this fashion:

' moon is negating with the word w1, the explanation N0 rejects shortly (see footnote # 11).
% See X"yaxy "7 2,75 '0n at the end that if one maintains PPom*? 7107 PoA then two 0°7Y are required for 72170, and
if one maintains 70172 AR1INA POV 7°X then one 7V is sufficient for 77N, [See (also) aw >"1N21 R 7"7 '01N X,7.]
? See footnote # 1 & # 10.
* Two witnesses are requires to allow one to marry an nor» 7wX. The father cannot be one of these witnesses.
> Seemingly, how can n" compare 7190 N9°X (which requires only an X"V), to AWK Wi (which requires two
o7y)?! See ‘Thinking it over’ # 1.
® The difficulty with n1©01n explanation is that the two cases of X1 and 72%1 11X are in two different situations; X1
anN 10877 by himself, and nowx Wewn? ARl 1R even with another 7v. Nonetheless N0 maintains this
explanation, for the other options are not viable as '01n continues to explain.
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- AUN INOUAY IR PN PNT T WAaY PR YaN
However we cannot explain 7wy IR 3281 78 to mean that the father alone is

not WX WWIY 7AK1 -
- SN\D’b 199X N NN 229 99N 1N XY XN YAN) 1INT NOIVIT

For that is obvious that the father is not 3281, and 1'% would never had asked

that the father should be believed to marry [him off] in such a situation -
- %oNn1Y 9w ThN 191 791915 NIN DIY VIPNYINI RYT

For we can find no Xin who maintains the one 7v is sufficient for jon.
Therefore we must say that WX XWA? 12K1 X is even together with another w2 7v.
- Za1m1913 1959815 9NN DY JaNIT HYaY PN 93 XN

And we can (even) also not explain that 7721902 992879 1281 means that the

father is believed only together with another 7¥ -
- B1ponmh 11m9nmn PYYNRT 920 1N 19 BN N0NINA D31Y %I TO98 NN INT

For if °27 maintains that two 2°7¥ are required 77717903 12°0K:7%, so then we would

need to conclude that *27 maintains 1PomY% 721072 PPoYR -
= YN INYWANY 1IN 19INRT 1999 2199 W1 591 19 ON)

And if indeed 27 maintains 701°% 707 POV, how can 929 be =9wan the father
who is a 2v9p for 7m0, since 529 maintains that as a 217p, the father is not 2N

TN INRITS, but once he is 7NN 12982 1K1 we will be 79vn him to Pon, since we are now
assuming that *27 maintains 1°011°% 7mann YR, Therefore it is necessary to maintain that jaX3
7170 12°9K77% himself, and 7wR W2 781 11°R even with another X",

nooIN asks:
- *10N19 1121955 PYPMA PRT 1YY XIP20T 1953 9NN ON)
And if you will say, since >21 maintains 1°or1 721902 1P9YR PN -
- 1210 599 1002 NPYT 5397 KON (3,15 xnp xaz) KIND I1HN 195991 39 19 ON

’ The advantage of explaining 27 in this manner is that the 1aX3 and 72X1 X are in the same case, namely by himself
(see footnote # 6).

8 The marginal note amends this to [FwX] w5,

? It will be necessary to say that 7" *21 do not agree with the »"7 021 mentioned previously in 22X 7"7 X,72 '01n
who maintain that np172 np1n2 o°wan %5 and even an X"V is not required. Rather 1" >27 agree with »" (see *"19).

' This is the rejected "o referred to previously in footnote # 3.

' This is the rejected " referred to in footnote # 1. Moo, by writing *»1 X721, may be indicating that certainly X
w9 that o is discussing the father alone (since all agree that 1°0m1 requires two 2°79), however even regarding
717N we cannot explain it to mean that he is 7X1 only with another 7¥ because there will still be a difficulty (albeit
not as apparent and blatant as the previous difficulty). See ‘Thinking it over’ # 2.

"2 The advantage of explaining *27 in this manner is that the 72X1 and 1281 X are in the same case, namely together
with another w2 7¥ (see footnote # 6).

1 See footnote # 2.

' See footnote # 2.
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If indeed it is so, how do *wx 27 establish in X702 1377 279 that which 521 taught
later,'® in a case of ‘speaking innocently’ -
- 129750 NY RNPPINT 71199902 YaN 13297 1191952 1IN
That he is only believed to eat 11297 72190 but he is not believed to eat 72 n
RNYMIRT; this is how *WX 27 in X702 137 interpreted the ruling of °27; the question is -
= 1PONMY NN PYYN PNRT DY NADT 11 2295 X
But since "27 maintains that °0m9% 707 1B y» PN -
= NIPINT 71129905 19297 7919900 PYNT 7Y X920 )5 BN
Therefore we assume that 27 maintains RN =INT 72190 J1207 72102 PR -
- RNMINT 7129902 993 AN 13297 1129902 93aNT XN 997 T9ruh yawnts
As is indicated previously in the X713, that whoever eats 31297 2190, also eats
RDMMIRT 721905 how can WX 17 say that s"27 ruling was only 71277 721702 and not  7m17N2
XN»7IRT, since once we permit him to eat 7131277 72170 he will also eat Xn»7IXT A17N?!

Nv0IN answers:

- NIDIN IN NIPIINT AINY 19297 NN 199N *95u5 919975 139998127 INNT 1YY W
And one can say; that the reason it was necessary to say previously, that we
are 779y» from 33297 72190 to XNMMIRT 791 or the reverse that 7m0 11217 7200 1980
RNPIINT -

- ¥1on19h 0599 MNOWIN PIIN PR INT INNDY SUPN KYT DIYN 199
That is because there should be no difficulty according to the one who
maintains o1 2955 NN PEYR PN -
- Opbyn 9987 INDD 7Y NIP2DT TWAN YN YUN 29 YaN
However "X 27 in %17 P79 (who said that the ruling of 27 is only 13277 721702
and not Xn>71X72), he may perhaps maintain according to the >"win Phyn 7'"'%
pon and therefore will not need to interpret those two NIn®92 that we are Xn*7IRT? 112777 PoYA,
but rather X" will maintain that Xn»IRT? 132777 1997 PR.

'> 1390 *5% mon means when a person relates an incident ‘innocently’ without any intention of testifying or proving
anything. In certain instance such reminiscing is believed to a certain extent.
' X,12. The x7»3 relates that there was a person who reminisced ‘innocently’ about his childhood that they would
give him 7m0, and 27 was 11291 him to 72973 based on his story.
17 ®,70. The X723 there states (that if we maintain 1°071°% 721707 %97 PR, then) XN™NRT 721N 13277 A207 17107 and
RNIIRT 72777 112977 79107 13°p0n; therefore Mo assumes the same applies that XN7KRT 721707 13277 7321707 J°P0NA.
18 See footnote # 17.
¥ The two nin™2 (on §,717) seemingly contradicted the view of 1°0m12 0°93 mR*win P72y PR. In order to resolve this
contradiction it was necessary to assume that Xn»IX7% 1312777 7290,
2 However, even though *WX 27 can maintain 7°01% a1 2"wan Povn, nevertheless, 27 (who according to WX 27
is only discussing 131377 7m190), cannot maintain o 710NN POA as NvOIN stated previously (by footnote # 2). See
R"wAnn.
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mooIn offers an alternate solution:
= 1P5¥1 1PN MINT INNID 122 PONY NNMIINN PIYN MINT INND 192 NNDY 9D195T AN I

An in addition®' it is the view of mpoIn that according to everyone, whether the

PORYD RAnR POYR 7' or whether 1P0RYY N7 PR R 7R, all agree that -
= RDPNINT AYNY 19297 NO1 1PN INIYI NIN TY 9089 W1 1T HNMINM PN

We are ;19v» from ;72170 of grain, wine and oil of »"'X, and even it is 1327 72170,

we are 719V7 to RNMMINT 7o -
- ZRIMINT XD UTPRN 1ATAY 1199

Since that during the time of the wTp277 n°2 the 7170 of 777%™ W7D 137 is RNYIINT -
- R1YY $919 1YY PR YINY YIN NN N M9 Pnmyan vax

However [from] 772170 of other produce or ;72170 of »'"w7 all agree that we are

not 7oy -
— %1929 SN NIN SY 9NY9) WITIN 13T HDYINY 195N

Even to 27123 w50 337 n19n of 3"'K (even if it is) 333977 -
- ROIINTY 13297 19910 IR NYID2 ERINNT 19N IN PHNIYS YIN INYINA XYY

For it is only regarding "8 n»17n or 791 in 8710 [which was 8n>K7] that the
(first) xn2 previously said®’ that we are Xn>>INT> 33972 ;Town -
- 9233 NY JaN

But not from %22; we are not 75v» from 222 N5 to *"X NN,

= NIND NYIN IN 9 HNIINA 299N NN HINNT NN
And that X713 in 8902 9137 P9, where WX 27 stated that he is 1831 only 71702
11277, it is discussing n17°2 NN or 9'' NN, which has no xn»IK7a 9Py, and
therefore by such 770 we are not 13277 7m1nK 7297 even (13277) °"'RT X7 NAINS.

mooin resolved the difficulty; °27 maintains Pomv? amnn Poyn PR and therefore he also
maintains XN*7IXT 71N 13277 AR0 PHYR, but that is only from "R NN of I7¥N WD AT,
however we are not 19V even 712777 >R NN from M0 110 or 2" n NN,

*! This answer disagrees with the previous answer and maintains that whether Xn» 87> 132771 7%¥» does not depend
on whether 1°0m1°2 3"win 191 or not. Rather it depends on what type of 11277.
22 77077 12 one s obligated to separate MWy NN from I7EM w°N 137 only. All other produce are 2 only 13277
* Others amend this to ma N,
* This is referring to 71171 a7 when all M»AN even 77¥ WM 137 are 112777 everywhere even in "X, It was necessary
for NpoIN to rule this way, for if we maintain that one can be 12yn from Mo to 137 (since they are both 11277), we
would inevitable be 17yn from 137 to Xn»7K7 721, and the difficulty with *wX 27 would remain for we would be 759n
from nN17° to 137 to RNMIRT il
% moon is referring to 1""7712 77X™M W17°N 137 NN, which has an WIpna 112 XRN17RT2 P,
%6 The word 'sn»X7' is deleted (by the marginal note).
" The first k™12 on X712 states, X™02 727 12K "1 7A2% apm (but not in 933). Seemingly 172 there is no
difference between &0 and 922 since all 7911 is 132777, This proves that there is difference whether 7707 1 1PV as
in X0 (if we assume W12°2 7w o1 w12°D) or if 77107 1 1Py PR like P23,
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— 19394 129903 1Y YD1 PVIPA INIY D1 191N TYNY BINNNT **ypYT PP nsann 199
And similarly the 7awn later which states that certain people are believed to
testify as adults what they saw as minors (one of them was regarding eating

7217n), and the X9%3 established that this MnX1 for 7170 is only by 121297 a2

(the question again arises that we are XN IRT 721707 13277 721NR 7997) -
= NIND N8N IN 1799 NN 1N

That 73277 72170 means M0 NN or "' NN from which we are not XN™ KT N7 7997,

Once NM90IN claims that we are 77v7» from X">IN7 13297 72170 of "X to XN™TIRT 72170, there is an
additional ruling regarding ¥""n7 nmAn of *"x.
- P1on15Y 7129955 PHYI AINT INNPY)

And according to the 7om1%% 12702 PoYR 7" -
- PYYN 19297 XN 19X CINIYWS YINT TNE YIND 1T 1IN0 199N

We are 7701 199» even from '"n7 n»an of °"'X even if it is 33297 70N,

mooIn proves his contention:
- 13397 DTN I NMYIN (2, A JOVT REY P93 1YY XA oY %29 XAT

For >''% maintains in 3217 X2y 92 that 1''7172 7290 is (only) 31297 -
- Zphun PRT 7Y IRT NI 139 K92 1a¥9 NNPYIN PPOIN 93077 DIV RPIT

And it is only because °"1 maintains 129 X2 72¥% 72190 P90, that is why he
maintains 7071°% 71700 1OYR PN -

- 1959127 DTN DD PPYIN PRT 920 7N N NN
However if >"7 would maintain 127 X%2 72¥% 72070 p=7 P8, he would admit
that 7°011% 710N P9YR, since there is no concern that he is an 72v. However "1 7m0

according to °" is 131277 (as brought down from 771 '0%), how can we be 7%¥n from a 131277 to
pon. This proves that we can be 797 from 13277 72770 to PoRY, provided it is X" N7 NN of *"X.

mooIn anticipates a difficulty:
- RNIINT DNIN DIIN 91029 #3297 N11INa 919N XIPIun 9595 9aRT N

2 x,m.
¥ See 2,7.
3 We are certainly RN 7217 7297 to PONY; we are even 17¥7 from *"X 0 even if we maintain that 1"712 it is J3277n.
3! There is a dispute later (2,12) between 777 ') who maintains 127 X2 727 715190 P21 PX and "0 "1 who maintains
127 X923 A0 729 1P, The Xn3 explains that in the vicinity of *0v ' they were not 7m19nn 1onv? A%9n (therefore
there is no concern if we will give the 72v the 7217n).
32 See W 1"7 R,75 MOOIN where it appears that the npY?nn between "1 *"1 is whether 127 X722 72¥% 1P and as result
of that npY?nn there is the subsequent np17m» whether 10112 ma1NR 17997 or not.
33 X,i12 (on the very top).
 This refers to the "1 M0 they ate in 22 (see *"wA there N2 7"7).
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And that which the X713 said previously (regarding 7P 72173) that initially you
ate 33297 720 and at the end (because of 7P 7717)) you eat even 7727 n

RN9IRT; however MooIn just concluded that we are not 799 from 9™n NN (the 13277 72170
they ate in 222) to XN>7IRT 7217N!

mooIn responds:
= NDPIINT NN PUMIN *9923n YWIP NYNA PYIIN PIY NI ND

They did not eat Xn>>187 72190 (when they returned to *"X) on the strength that

they ate 12377 S@7p in 922 P93, for XN» KT 72102 ™M Mann PR PR -
= NDIINT N2IINY 095 MNIWIN PIVNY NN 09D DINVI PNV DIVN NIN

But rather the reason they were able to eat X077 72170 is because they were
2'""11 in M®3, for the rule is RNPMIRT 7INY 2'"wan Phyn —

mdoIN questions this interpretation of the Xn>72:
=15 N9 PPHIIN DN NN DINPINA ONN Y917 2) Y 9N

Even though that the Xn>12 states that 77°211 told them that you retain your 7pn

in what you were eating in 77913, namely (;72170) 1257 *w7p, you may continue eating 170
(XN™71X7) in *"X, this statement -
= 1995 N°N NIIN NINY YNHYN

Indicates that he permitted them in Xn»7X7 72770 on account of their eating
131297 72170, and not on account of 3"w1 —

mooIn responds:
- %6793 wINY PN

We need not be concerned with this question for all 7211 meant is that you will continue to
eat (XnX7) 72170 (but he did not mean to explain why you are permitted to eat [RN™IXT] 732170).

nooIn concludes:
= 919N NY NHIINTA DION 19297 N1MIINA 9INPT TNIWY NI

And according to that view which states that 7211 permitted them to eat 7%y

73297 but not to eat Nn>IRT 772190; (seemingly if the reason according to the first view is
that they ate Xn>7IRT 72170 since 7m1IN2 3"wan 1oun, why does the R"vaxy disagree?)

mooIn responds:
2599010 ¥997 DIV 19950 RIPININT NNINY D9 MNOWIN DHYN KIYW N1

3 9ya5 wp refers to the 1N they ate in %22 n9a (see *wp 7"7 2,72 "W).
%% In addition 7»m1 may have meant that you will not be able to eat fam *wTp, only 21237 “w7p.
37 R,712 where it states 191 919X 131277 721702 A1 RNWA X"VARY.
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The reason they were not elevated from >'"'231 to Xns> K7 72190 is because their
TP was flawed.”

SUMMARY

»27 (who maintains om0 POYA 1X) rules that the father alone is believed to
be mmn 2°oRn to his son, but he is not believed nwX Wwi? even together with
another 7v. We can maintain that whether 73277 771707 7297 to RN™IIRT 72170 or not, is
dependent on whether we maintain o™ 2"win 1¥n (then P2¥n PX) or not (P2¥n), or
we can differentiate between (11217) X" 07 NN of "X, from which we are 77797 even
to PonY, and 2" M0 170 from which we are not 719V even to 731277 X107 NN of
MR,

THINKING IT OVER

1. mPoIN maintains that the only way we can understand the question of 1"7 ( oX
TWR PRWT? RN 7170 19°0KAD 187 NR) is we maintain that TwR WOWTY 7K1 1K
is (even) together with another 73.% However even if 7wx W°wi» 7K1 PR means
with another 7V, the question of "9 is still not understood; how can we compare
7170 12°9K7% where one 7V is sufficient and therefore even a 2177 is w2, to WWI°
7wX where two 07y are required and therefore a 111 is 90921

2. Moo negates the interpretation that 721702 17°2877 1R1 means together with
another 8"v.* Since the reason he is 7170 12°3879 1K1 is because it is 1773, how can
mMooIN even entertain the idea that a second 7v is required?!*’

¥ See "IXw 717 2,72 00 that the 171 ¥ was because they attributed their lineage to the 2112 "2 who were D798,
¥ The >"1n comments (the bracketed comments are from the translator): ["5X] 15¥n RWY DUV "1 WTPIT ¥°77) 711 959
BomY ,'Y910 RIMIRT RN V9 N3 Pemeh gann PR ' ew (21 1"7na 3] X,10) Db jean (o 2w
©19 (POA17 13277 91NN POYA PRY) M3 RARAT (POA1Y n1INR MYYYR YR WP YMIT 2,70 §72) IR NI R 23R
HNNNINT YN 1”:‘?10&5 IR RFT 1TO9T° 509D "7 9% ,(WH”PTH 3]"17) 977 RPN RY ORT (H’NW NN NXP MR UJJOJ) T
9D PARD PINT 20T TN POYR PRT RTIMOND 8 KD (590 90 namnn PhYR PRY) RRIMD ORI RIWTT TN
TOPIN YOIT) 2T MA PRI LTIV YN ORI YMIT) MRY WN 1D DY L8N NOYRIRD POAPD 10w 91 RAPMIRT(I1NN)Y
HNNNINTR HIOR (NL‘(W AT awn DWW) 2MWR ROR RINR (.‘(”173].'( ¥Im AP 3]"17) ORT RI2T KD NAPwnT (.‘(”173].'( yImn
291w N150IN.
0 See footnote # 5.
1 See 0278 n9°X ,°"19 and X MK 71"0 0 NI PP.
2 See footnote # 11.
3 See Mo,
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